Linguistics 610 Fall 2013

Extra Credit Homework 10 points
Due Tuesday, 12/17 [by e-mail]

5points
1. Make up a question about syntax. Explain why it’s a good question. And answer the question.

5points
2. ‘Tough-movement’ sentences like (i) raise several analytic questions.
(i) Mary is tough to please [cf. It is tough to please Mary]
a. Suggest an S-Structure for (i) and justify your suggestion.
b. Discuss ways in which such sentences behave like typical A-movement.
c. Discuss ways in which such sentences don’t behave like typical A-movement.



